1)

A class of 30 students counted the number of books in their bags on a cenain day.  The
number of books in EACH bag is shown bhelowas
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Copy and complets the frequency table for the data shown abowve,
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State the modal numhber of hooks in the bags af the sample of students.

Lizing the table in {a) above, or otherwize, calculale

the TOTAL number ol books

the moan number of boaks per hage.

(4 marks)

{1 myark)

(X2 marks)

(2 marks)

Deterimins the probability thar a student chosen at random has LESS THAN £ books in
buizrher bag.

(2 marks)

A class of 32 students participated in running a 400m race in preparation for their sports day.

The time in seconds taken by each student is recorded below.
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70 o4
63 72
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65 61 64
80 78 77
59 71 62
73 68 75

Copy and complete the frequency table to represent this data.

Time in seconds Frequency
50 — 354
5559
o0 — 64 1
65 — 69
T -T74
T5-7%9
B 80 - 84

Uising the raw scores, determine the range for the data,

( 2 marks)

{ 2 marks)

Using a scale of 2 cm to represent 5 seconds on the horizontal axis and a scale of 1 cm
to represent 1 student on the vertical axis, draw a frequency polygon to represent the

dats.

MNOTE: An empty interval must be shown at each end of the distribuotion and the

polygon closed.

{ ¢ marks)

To qualify for the finals, a student must complete the race in less than 60 seconds.
What is the probability that a student from this class will qualify for the finals?

{ 2 marks)



3)

The heights of @ semple of seedlings were measured to the nearest centimetre and then arranged
in ¢liass intervals as shown in the table below.

Helght in cm Midpoint Freguency
3-7 5 B 0
8-12 i0 3
1317 15 12
18-22 15
23-27 22 S
28-32 13
= 3337 14
(:r) Fow many seedlings were in the sample? {1 mark)
o) For the class interval written as “2—12" in the table above, write down
(i the lower class limit (1 mark)
il the upper class boundary (1 mark)
(iii} the class width. (1 mark)
) Copy and complete the table by inserting
(i the midpoints of EACH class interval {2 marks)
(il thie missing values for the class interval after the interval #33-37", {1 mark)
(€] Using a seizle of 2 em to represent 5 em on the horizontal axis and 2 em to represent
S seedlings on the vertical axis, driw a frequency polygon to represent the data as shown
in your table at {c). (S marks)

4)

A clozs of 24 stedenis threw the cricket ball at sporis, The distance throwa by cach student was
meisuTed to the noarest mmetre, The resolts ore shown baelow

22 S a5 52 47 an
48 aa 45 23 432 <Hl
S5 =] i 6 <3 54
16 H3 Sl 3z 449 ]
{n] Copy and comnplete the frequency table for tee datis shoarn above.
D¥astnmce () Frequency
20 — 24 3
30 — 5k L
= — { 3 marks)
ik Siate the lower boundary for the class interval 20— 25, { 1 mark }
1<) Using a scale of T em on ihe x=nxis to represent 5 metres, and & scale of 1 cm on the

F-axis to represent 1 stuwdent, draw a1 historram o illusicare the kst
{ = muarks)

{d} Drietermine
ik ihe number of stedents who threw the ball a disfance recaosded as 5O metnes or
TOISHTE [ 1 mark )
(it} the peababylivy thit o stedent. chosen at randnm, threw 1he bakl s distanee recorded

&g 50 moetres or mose. [ 1 mmurk )



A class of 20 students each recorded the distance travelled to school. The distance, to the nearest
km, 15 recorded below:

21 11 3 22 0 32 22 18 28
26 &3 L7 34 i2 25 q 19 14
39 7 22 24 30 ig 13 23

{a) Copy and compléete the frequency table to represent this data.

Distance in Kilometres Frequency
1-5 1 ]
1 G- 10 2
11-15 i
o 16 - 20 6 i
21-25 | S
26 - 30 :
31-35 !
36 - 40 | |
B { 2 marks)
{h Uising a scale of 2 em to represent 5 km on the horizontal axis and a scale of 1 ¢m to
represent 1 student on the vertical axis, draw a histogram to represent the data,
{ 5 marks)

(<) Calculate the probability that a student chosen at random from this class recorded the
distance travelled 1o school a3 26 km or more. { 2 marks)

6)

Io a survey. all the boys in a Book Club were asked how many books they cach read during the
Easter holiday. The results are shown in the bar graph bebow.
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(e} Drraw a frequency table to represent the data shown in the bar graph. { 3 marks)
{h) How many boys arc there in the Book Club? { 2 macks)
ch What is the eodal number of books read? { I mark )
(el Heonw many boeoks did the boys read during the Easter holiday? { 2 marks)
(el Caleulate tlee mean number of baoks resd. [ 2 marks)
[ Whait is the probabilicy that a boy chosen at random read THEEE OF MORE books?

[ 2 morks)



The wble below shows the amount, to 1he nearest dollar. spemt by a group of 40 students =t 1he
schoal canteen during a pericd ol one week.

Amount Spent (5) Mumber of Students Cumulative Frequency
110 3 3
: - ]
! 11 =20 7 1
i
21 =30 q | %
JL-40 11 i
Al — 5 .1
51—n0 | 2
() Copy and complete the table 10 show the cumulalive frequency. (2 marks)
{h) [Ising @ scale of 1 em to represent 55 an the horizontal axis and 1 em (o0 reprosent
3 students on the vertical axis, draw 1he cumulative frequency graph for the data.
(5 marks)
{Marks will be awarded for axes appropriately lahelled, points correctly plotted, and
& smooth curve carclully drawn.)
{c) Use your graph Lo estimate
(i) the median amount of money spent (2 marks)
(i} the probability that & student ehosen ac random spent Jess than $23 during the
week. {Z marks)
Show on your graph, wsing broken lines, how these estimates were determined,
8)

The table below shows the ages, to the nearest year, of the persons who visited the clinic during
a particular week.

(a)

)

(c)

Ape (yrs) Number of persons | Cumulative Frequency
40 - 49 4 4
50 — 59 11 15
60 — 69 20 .
70 - 79 12 —_
B0 — 89 3 30
Copy and complete the table 1o show the cumulative frequency. {2 marks)

Using a scale of 2 cm to represent 10 years on the x-axis and 1 em (o represent 5
persons on the y-axis, draw the cumulative frequency curve for the data. (5 marks)

Use your graph drawn at (b} above to estimate
(1) the median age for the data _ (2 marks)

(i1} the probability that a person who visited the clinic was 73 years or vounger.
(2 marks)

Draw lines on your graph to show how these estimates were obtained.



9)

The table below gives the distribution of heights of 400 female applicants for the Police
SCIvice.

(a)

(b}

10)

Height (cm) Number of Cumulative

Applicants Frequency
131 - 135 10 10
136 - 160 55 05
161 - 165 105 170
166 - 170 110 280
171 - 175 80 360
1765 - 180 30 390
181 - 185 1 400

Using a horizontal scale of 2 cm to represent & height of 5 cm and a vertical scale of
2 ¢ to represent 50 applicants, draw a cumulative frequency curve of the heights.

Start your horizontal scale at 150 em. {5 marks)

Use your graph to estimale

(1)  the munber of applicants whosc heights are less than 170 cm. {1 mark }
(ii) the median height of applicants. (2 marks)
(i) the height that 25% of the applicants are less than (2 marks)

(v the probability that an applicant selected at random has a height that is no
maore than 162 cm. (2 marks)

The tale below shows the distribution of marks on a test tor a groep of 70 students,

{a}

{b)

i<l

(d2

Mark Frequency Cumulative
Frequency
-1 Zz 2
11— 20 5 T
21 - 30 9 L
31— 40 14
4] — 50 14
5l el 12
a1 — 70 o ]
71— ED 4 70

Copy and complete the table 1o show the cumulative trequency for the distribution.

{ 2 marks)

(i} Using a scale of 1 om to represent 5 marks on the horizontal axis and 1 cm
1o represent 5 students on the verical axis. dravw the cumulative frequency

curve for the seores, { 5 marks)

(e} ‘What assumption have you made in drawing your cyrve through the point
00y [ 1 mark )

The pass mark [oc the est s 47, Use vour graph to determine the number of students
whir passed the test. [ 2 marks]

What is the probability that a siudent chosen at random had a mark less than or equal o
307 { 2 marks)



STATISTICS

Calenut the e, medi, o, and rang of ech setofmunbes, Find the made for te frequency tables:
1) | Scores | Frequency
[i] ]
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2) | Scores | Frequency
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7 14
3 2
S(HGE R B89 s | 10
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Find the maan for the frequency tables:

1)

2)

3)
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Find the median for the frequency tables:

1)

2)

3)

Scores | Freguency

1 9

2 11

3 15

4 1

5 1
Scores Freguency

10 12

11 15

12 15

13 15

14 4]

15 11
Scores Frequency

5] 0

7 4

8 5

9 i)

10 10

11 10




